Constructors not using this Keyword

publ}: class Person { model

* Attributes.

* Person instances have the same attribute names.

* Person instances have specific attribute values.

*/ Q (4
double weight; A m
double height;

- What if names of parameter & attribute are the same?
o - implicit “this”

* Constructors
*/
public Person() {

}

weight height
public Person(double mewWesghe, double rewdesghs) {
weight = rewleight; weight
height = newleight; height



Tracing OO Code: Visualizing Objects

To visualize an object:

o Draw a

rectangle box |to represent contents of that object:

Title | indicates the name of class from which the object is instantiated.

Left column

enumerates names of attributes of the instantiated class.

Right column

fills in values of the corresponding attributes.

o Draw | arrow(s)

for variable(s) that store the object’s address .

Person
(' age 50

jim nationality “British”
weight 80
height 1.8




Effects of Creating New Objects

public class Person {

/ model

* Attributes.
* Person instances have the same attribute names.
* Person instances have specific attribute values.
/4
double weight;
double height;

- Variable Shadowing
- Visualizing Objects
- Context Object

/*

* Constructors
*/ - this

publie Persont) { - dot notation

}
public Person(double weight, double height) {

this.weight = weight;
this.height = height;

@Test

public void test_1(Q) { ;ILJEUI

Person(jim = new Person(72, 1.81);
Person jonathan = new Person(65, 1.67);

assertTrue(jim != jonathan);
assertFalse(jim == jonathan);
assertNotSame(jim, jonathan);
assertNotEquals(jim, jonathan);



Accessors/Getters vs. Mutators/Setters Berson
public class Person { W. I
/*
* Attributes. f\. I
* Person instances have the same attribute names.
* Person instances have specific attribute values.
%/
double weight;
double height; person
/* Accessors/Getters */ W. I
public double getBMI() { h I
double bmi = this.weight / (this.height * this.height); e

return bmi;
1 @Test
public void test_3() {

/* Mutators/Setters */ Person jim = new Person(72, 1.81);
public void gainWeightBy(double amount) { Person jonathan = new Person(65, 1.67);
this.weight = this.weight + amount;

¥ assertEquals(21.977, jim.getBMI(), 0.01);

assertEquals(23.307, jonathan.getBMI(), 0.01);

jim.gainWeightBy(3);
jonathan.gainWeightBy(3);

assertEquals(22.893, jim.getBMI(), 0.01);
assertEquals(24.382, jonathan.getBMI(), 0.01);



Copying_Primitive vs. Reference Values Slide 50

Primitive
System.out.println(i == j);
System.out.println(k == 1
Porpt pd new Point (2, 3); Re{:erence

Point p2 pl; System.out.printin(pl
Point p3 = new Point (2, 3);

Systme.out.println(p3 == pl || p3 == p2);
Systme.out.println(p3.x == pl.x && p3.y == pl.
Systme.out.println(p3.x == p2.x && p3.y == pZ.




Copying_Primitive Values Slide 51

int 11 =

int 12 =

int 13 =

ant[] nw@bersl = (2d; 12; 4ok

int[] numbers?2 = new int [numbersl.length];

for(int i = 0; 1 < numbersl.length; 1 ++) {
numbers2([i] = numbersl[i];

}

numbersl[0] = 4;

System.out.println(numbersl1[0]);

System.out.println(numbers2[0]);




